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THEXy « T - FER - 5 Mo % AL & G EHAm & T2 (BB
e
= 1 80, 682, 393
T e R T
= 1 79, 187, 731
E¥LT
= 1 2,810, 831
R L
= 1 76, 376, 900
SRS (A) 25H% JRIEER AR X 18. Om [EA
F17. 0m
e 19 531, 700 10, 102, 300
SRS (B) 25H% JRIEER AR X 18. Om [EA
F17. 0m
e 20 535, 300 10, 706, 000
SRS (C) 25H% JRIEER AR X 18. 5m [EA
F17. 5m
e 1 545, 500 545, 500
SRS (D) 25H% JRMEER AR £ 10. Om [EA
9. Om
e 152 265, 400 40, 340, 800
SRS (E) 25H% JRIEER AR £ 16. Om [EA
F15. 0m
e 1 429, 500 429, 500
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fFHFE R T
= 1 327, 664
TAT 7 MifZE T
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= 1 172, 389
& e (e - D) FLE)T9vTy RC-30 41 0 JE 110
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m2 56 707. 6 39, 625
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m2 56 642. 8 35,996
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= 1 6, 927, 000
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= 1 88,511, 393
B
= 1 25, 230, 000
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= 1 113, 741, 393
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= 1 20, 398, 607
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= 1 134, 140, 000
THEBLFH Y %H
= 1 13, 414, 000
TH#&G
= 1 147, 554, 000
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